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S
ummary

of statistical inference.
17 Hypothesis testing .
To test

Ho : No against
Ha :

M =
MEMo ,

we compute the z-score

z= X

,M
If 1z1 1

.
96 then we rejectE2 . 33 3Hadapt .2 . 576

level
, respectively . Otherwise, we do not.

2) confidence intervals .
A 95% 98 % 9970 confidence internal

for a population mean is
given by the interval

X-Lon'X +Loh

where L= 1
. 96/2 . 33/2 .576 respectively

We use the same interval for a population
proportion p, except in this case

X = p (the sample proportion) and

s = p(l -p



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 


